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int[] array = new int[10];
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int[] array = {1, 2, 3, 4, 5};
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int[] array;

array = new int[]{1, 2, 3, 4, 5};
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Java length

Java 0 -1
IndexOutOfBoundsException length
int[] array = {2, 4, 8, 16, 32};

for(int i = 0; i < array.length; i++)
System.out.printin(array[i]);
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int[][] array2;
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int array2[][1;

int[] array2[];

array2 = new int[10][100];

int X
int array2 = new int[10][100];
Java (
int array2 = new int[5][1; //
int array2 = new int[][10]; //
array2
array2[0] = new int[1];
array2[1] = new int[2];
array2[2] = new int[3];
array2[3] = new int[4];
array2[4] = new int[5];
array2[0] array2[1] array2[2]
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int[1[1 int_array2 = {{1, 2
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int[][] int_array2 = {{1, 2},
{3, 4, 5, 6},
{7, 8, 9, 10, 11, 12, 13, 14}};

int  thIl[] = {1, 2, 3, 4, 5};
int  thlI2[] = tbll;
thl2 thll
System.arraycopy
System.arraycopy( ,
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IndexOutOfBoundsException
100 thll tbl2

System.arraycopy(tbll, 0, tbl2, 0, tbll.length);
thl1[20] thl1[59] thl2[60] thl2[99]
System.arraycopy(tbhll, 20, tbl2, 60, 40);
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String[] strArray = new String[3];
strArray[0] = new String("'Hard");

strArray[1] = new String("Gay");
strArray[2] = new String("wiseman™);
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String

String[] strArray = {"Hard", "Gay", "wiseman"};



